Durée d’échelon

Terminal

3 ans

3 ans
2ansbm
2ansbm
2ansbm
2ansbm
2ansbm

2 ans

2 ans

Indice brut (IB)

1015
995
964
922
880
849
807
767
732
693

Indice majoré (IM)

821
806
781
750
718
694
662
632
605
575

Salaire brut

3847.23 €
3776,94 €
3 659,79 €
3514,52 €
3 364,57 €
3252,10 €
3102,15€
2961,57 €
2 835,05 €
2 694,46 €

Durée d’échelon

Terminal
3 ans
2 ans
2 ans
2 ans
2 ans
2 ans

lan6m

lan6m
lan6m
lan6ém
lan6m
lan6ém
1an

Indice brut (IB)

821
774
751
724
695
665
637
607
574
546
514
490
471
444

Indice majoré (IM)

673
637
620
599
577
555
533
510
485
464
442
423
411
390

Salaire brut

3153,69 €
2 985,00 €
2905,34 €
2 806,93 €
2703,84 €
2 600,74 €
2 497,65 €
2 389,87 €
2272,72 €
2174,32 €
2071,22 €
1982,19 €
1925,96 €
1827,55 €



